g < (X

ISO Cylinder

“ fl Series C85

28, 910, 912, 316, 820, 825

Conforms to ISO 6432 and CETOP RP52P

I‘_-' R 1

CG1
MB
MB1
. CP95
L
C95
C92
Variations CA1
_ i Rod et Head cover style Switch mount|  |Rot boot Bore 5
eries ction ushion age
style N[ EJIF ]l ¥ | [Rai[gand| |@20.29) | (mm) *llcs1
Standard )
Series C85 Single
Double
_— acting 152
i Double
Single Single e
acting (SR, SE) 1.5-16
(Not for SE)
Non-rotating rod Double ) 28
- acting Single Rubber to25 ] 152
Tdl~ Single Single 28
N acting (SR, SE) Rubber 1025 ™ 15-16
(Not for SE)
Direct mount
Base Doqble Single Rubber . 28 L
" acting to 25
- ’i"ﬁ
- £rony Double Single Rubber
acting ? 220, 25 =
Mounting style SR=Spring return

! 2o >
SE=Spring extend :((((((’ :ﬂ

igé(@
N,

1.5-1



ISO Cylinder/Standard, Non-rotating Rod: Double Acting

Series C85

28, 910, 912, 916, 820, 825

How to Order

Double acting
Double acting
il C/D[ss5wW | |E[20 H 40]/C]|f 30 HB
Magnet
— | None Auto switch
D |Built-in magnet mounting style
Style o A Rail
— | Standard B [Band
Non-rotating rod Applicable auto switches
K and bands are shown on
(only rubber bumper) p.1.5-35. f:’leasz orvt\jler
auto switches and bands
Head cover style . separately. N
- Other variations' suffix ¢
Symbol Mounting - - -
N Basic integrated clevis N Stainless steel plst.on rod, piston
g Double end rod.nut and mou.ntlng nut
= Boss cut Ro 1 S_talnless steel piston rod and
Y Boss cut - End port piston rod nut
[Double acting/Double rod: [Only 520, 525
Only double end style (E).
[TExcept for: air cushion, »Rod boot (only 220, 825)
single acting (T) style. — Without rod boot
. J Nylon tarpaulin one side
Bore size-Stroke ¢ K Neoprene cloth one side
Bore size (mm)| Standard stroke (mm) 1 Max. stroke 33| Nylon tarpaulin both sides
g8 10, 25, 40, 50, 80, 100 KKk ] Neoprene cloth both sides
210 400 [Th case of double acting/double rod.
212 10, 25, 40, 50, 80, 100,
216 125, 160, 200
220 10, 25, 40, 50, 80, 100, 1000 eCushion
@25 125, 160, 200, 250, 300 — Rubber bumper (Standard)
[Not available with air cushion. Air cushion (only "N" execution,
[TOther strokes available on request. c bores 10 to 25mm)
Mounting Bracket Part No.
o Bore (nm)[ 10 12 16 2 ”5 Replacement Parts
Foot (1 pc.) C85L10A C85L16A C85L25A For Standard Cylinders
Foot (2 pcs. with Bore (mm) Kit No. Note
mounting nut 1 pc.) C85L10B C85L16B C85L.258 20 C85-20PS Every set includes:
Flange C85F10 C85F16 C85F25 y 1 rod _sgal A
Trunnion C85T10 C85T16 C85T25 1 packing retaining washer
25 C85-25PS i
Clevis C85C10 C85C16 C85C25 1 retaining ring
Single knuckle joint KJ4D KJ6D KJ8D | KJ10D For Non-rotating Cylinders ("K")
Double knuckle joint GKM4-8 GKM6-10  |GKM8-16|GKM10-20 Bore (mm) Kit No. Note
ing ioi -4 -6- JA20 | JA30 Every set includes:
Floating joint JA10-4-070 JA15-6-100 8125 |-10-125 20 C85K-20PS :}Ll o soal
Note) Please order mounting brackets separately. 1 packing retaining washer
25 C85K-25PS 1 retaining ring
1.5-2

O
:



ISO Cylinder/Standard, Non-rotating Rod: Double Acting Series C85

Rubber Bumper/Single Rod

-
[ ]

Air Cushion/Single Rod

AT

A=
Rubber Bumper/Double Rod

.‘f/’
g

Air Cushion/Double Rod [

L

Non-rotating rod/Single Rod

Symbol

Double Acting/Single Rod

—a
[ | |

Rubber Bumper

Air Cushion

Double Acting/Double Rod

Specifications

Bore size (mm) 8 10 12 16 20 25
Piston rod dia. (mm) 4 4 6 6 8 10
Piston rod thread M4 X 0.7 | M4X0.7| M6X1 M6 X1 |M8 X 1.25|M10 X 1.25
Ports M5 M5 M5 M5 G1/8 G1/8
Action Double acting/Single or Double rod
Fluid Air
Proof pressure 1.5MPa —
Max operating pressure 1.0MPa ClJl
Min operating pressure 0.1MPa 0.08MPa 0.05MPa CJP
g"r:]k;:gtﬁ:]: fluid ~20 to 80°C (Built-in magnet: —10 to 60°C) CJ2
Cushion Rubber bumper, Air cushion (Except for 8) (Non-rotating: only rubber bumper) CM 2
Lubrication Not required. If necessary turbine oil no.1 ISOVG32 is recommended ————
Nylon . Max ambient C85
tarpaulin temperature 60°C ~ T
Rod boot
Neoprene Max ambient C76
cloth - temperature 110°C ) ———
Piston speed 50 to 1500mm/s CGl
Allowable Rubber 0.02J 0.03] 0.04] 0.093 0.273 041 |MB
kinetic bumper —
enerey /C'\L'j;hi on — 0173 | 0.9 0.4 0663 | oe7s |MB1
Non-rotating accuracy [llH | +1°30' | +1°30' +1° +1° +0°42 | z0°42° |CP95
Stroke tolerance 0/+1 0/+1.4 —
[Maximum ambient temperature of gaiters only. C95
[TApplicable to non-rotating models only. —
C92
Weight (Standard, Non-rotating rod) © CALl
Bore size (mm) 8 10 12 16 20 25 CSl
Double action | Basic weight 45 49 96 109 |183(203)|258(286) —
Double rod Add'l weight for each 10mm of stroke 3 3.2 6.2 7.2 11.8 18.4
C85LOA 20 40 95
C85LB 55 105 210
Mounting bracket C85F] 12 25 90
C85TO 20 50 75
C85C 20 40 85
g Single knuckle joint | KIJOD 17 25 45 70
2 |Double knuckle joint | GKMO-O 10 20 50 | 100
2 |Floating joint JAO-O-O 10 20 50 70

v
ﬁ%
LA |

|

[ |

Rubber Bumper Air Cushion

Non-rotating rod: Double Acting/Single Rod

4

[

Calculation Example: C85N10-50, C85F10
Basic weight:-----+---- 49 (910)
Additional weight:------3.2/10mm of stroke
Cylinder stroke---------50mm
Mounting bracket::-- 12
49+3.2 X 50/10=65 65+12=77

O
:

(' ): In case of air cushion

1.5-3



Double acting: Single rod

CO85018 to16 Rubber bumper (Disassembly is ngt possible)

' O
Component Parts
No. Description Material Quantity Remarks No. Descriplfion Material Quantity Remarks
©) Rod cover Aluminum alloy 1 White anodized ® Bushind Sintered bronze 1
Head cover N | Aluminum alloy 1 White anodized @ Magnef 1 (Switch style only)
Head cover E | Aluminum alloy 1 White anodized Bumpér Urethane 2
Head cover F Aluminum alloy 1 White anodized ©) Pistoﬁ gasket NBR 1 (2 for switch style)
Head cover Y | Aluminum alloy 1 White anodized Tub(;f gasket NBR 2
©) Cylinder tube Stainless steel 1 an Rog( seal NBR 1
® Piston rod Stainless steel 1 12 Pigfon seal NBR 2
Piston A Brass 1 a3 R,z‘d end nut Carbon steel 1 Nickel plated
Piston B Brass 2 (Switch style piston) 19 Mounting nut Carbon steel 1 Nickel plated
C[O85020, 25 Rubber bumper
Component Parts
No. Description Material Quantity Remarks No. Description Material Quantity Remarks
©) Rod cover Aluminum alloy 1 White anodized / ©) Retaining ring Carbon steel 1 Nickel plated
Head cover N | Aluminum alloy 1 White anodized/ ) Retaining ring Carbon steel 2
Head cover E | Aluminum alloy 1 White anodizeg{ ) Magnet 1 (Switch style only)
Head cover F Aluminum alloy 1 White anodize,ﬂ @ Wear ring Phenolic resin 1
Head cover Y | Aluminum alloy 1 White anodizéd () Bumper A Urethane 1
©) Cylinder tube Stainless steel 1 / ) Bumper B Urethane 1
O Piston rod Carbon steel 1 Hard chrome ﬁlated () Piston gasket NBR 1
® | Piston Aluminum alloy 1 Chromatgd Rod seal NBR 1
® Plain washer Carbon steel 1 Nickel pléted (W) Piston seal NBR 1
@ Bushing Sintered bronze 1 Rod end nut Carbon steel 1 Nickel plated
Bushing Sintered bronze 2 ' 9 Mounting nut Carbon steel 1 Nickel plated




Construction

ISO Cylinder/Standard, Non-rotating Rod: Double Acting Series C85

Double acting: Single rod

CO85[10 to 16 Air cushion (Disassembly is not possible)

CJi
CJP
CJ2
Built-in magnet Standard "N" integrated clevis CM2
C85
Component Parts C76
No. Description Material Quantity Remarks No. Description Material Quantity Remarks
@ | Rod cover Aluminum alloy 1 White anodized (® |Cushion ring Brass 2 CG1
@ | Head cover N Aluminum alloy 1 White anodized Magnet 1
@ | Cylinder tube Stainless steel 1 @ |Mounting nut Carbon steel 1 Nickel plated MB
@ | Piston rod Stainless steel 1 (12 |Tube gasket NBR 2
Piston A Brass 1 @3 |Rod seal NBR 1 MB1
Piston B Brass 2 (Switch style piston) Piston seal NBR 2
® | Bush Sintered bronze 1 @ |Check seal NBR 2
@ | Cushion needle | Stainless steel 2 ® Piston gasket & NBR 3 CP95
Steel ball Bearing steel 2 cushion ring gasket
7 |Needle seal NBR C95
Rod end nut Carbon steel Nickel plated
C92
CO85020, 25 Air cushion
CAl
Csl

Built-in magnet Standard "N" integrated clevis
Component Parts
No. Description Material Quantity Remarks No. Description Material Quantity Remarks
1 |Rod cover Aluminum alloy 1 White anodized 3 |Cushion valve Carbon steel 2 Nickel plated
(2 |Head cover N Aluminum alloy 1 White anodized Cushion seal Urethane 2
(3 |Cylinder tube Stainless steel 1 @5 |Piston gasket NBR 1
@ |Piston rod Carbon steel 1 Hard chrome plated Rod seal NBR 1
® |Piston Aluminum alloy 1 Chromated (7 |Piston seal NBR 1
® |Plain washer Carbon steel 1 Nickel plated @® | Cushion ring gasket NBR 2
@ |Bushing Sintered bronze 1 Cushion valve packing NBR 2
Bushing Sintered bronze 1 20 |Rod end nut Carbon steel 1 Nickel plated
(©® |Retaining ring Carbon steel 1 Nickel plated @) |Mounting nut Carbon steel 1 Nickel plated
Cushion ring Copper alloy 2 Hard chrome plated @ |Selflocking ring | Stainless steel 2
@ |Magnet 1 23 |Steel ball Stainless steel 2
(2 |Wear ring Phenolic resin 1
1.5-5

'\



Series C85

Construction

Double acting: Double rod

CO85WE 8 to 16 Rubber bumper (Disassembly is

not possible)

i< Y
Standard 10 to 916
SN
Standard 28 Built-in magnet 28 Built-in magnet 10 to 16
Component Parts

No. Description Material Quantity Remarks No. Description Material Quantity Remarks
@ | Rod cover Aluminum alloy 2 White anodized © |Bumper Urethane 2
(@ | Cylinder tube Stainless steel 1 Piston gasket NBR 1 2 for switch style
® | Piston rod Stainless steel 1 2 for @8 @) |Tube gasket NBR 2
@ | Piston A Brass 1 12 |Rod seal NBR 2
® | Piston B Brass 2 | (Switch style piston) @3 |Piston seal NBR 2
® | Bushing Sintered bronze 2 (® |Rod end nut Carbon steel 2 Nickel plated
@ | Magnet 1 (Switch style only) @ |Mounting nut Carbon steel 1 Nickel plated
Spacer Brass 1

CO85WE 20, 25 Rubber bumper

Standard
Built-in magnet
Component Parts
No. Description Material Quantity Remarks No. Description Material Quantity Remarks
1 |Rod cover Aluminum alloy 2 White anodized @ |BumperB Urethane 1
@ | cylinder tube Stainless steel 1 (10 |Piston gasket NBR 1
3 |Piston rod Carbon steel 1 Hard chrome plated 1) |Rod seal NBR 2
@ |Piston Aluminum alloy 1 Chromated (2 |Piston seal NBR 1
® |Plain washer Carbon steel 2 Nickel plated @3 |Rod end nut Carbon steel 2 Nickel plated
® |Bushing Sintered bronze 2 Mounting nut Carbon steel 1 Nickel plated
@ | Retaining ring Carbon steel 2 Nickel plated @ |Magnet 1 (Switch style only)
® |Bumper A Urethane 1
1.5-6

O



Construction

ISO Cylinder/Standard, Non-rotating Rod: Double Acting Series C85

Double acting: Double rod
CO85WE 10 to 16 Air cushion (Disassembly is not possible)

CJi
CJP
Standard C J 2
CM2
C85
Built-in magnet C76
Component Parts CG1l
No. Description Material Quantity Remarks No. Description Material Quantity Remarks
(1 | Rod cover Aluminum alloy 2 White anodized © |Magnet 1 MB
@ | Cylinder tube Stainless steel 1 Rod end nut Carbon steel 2 Nickel plated I
® | Piston rod Stainless steel 1 @ |Tube gasket NBR 2 MB 1
Piston A Brass 1 (12 |Rod seal NBR 2 —
Piston B Brass 2 | (Switch style piston) (3 |Piston seal NBR 2 CP95
® | Bushing Sintered bronze 2 Check seal NBR 2 —
® | Cushion needle | Stainless steel 2 D Piston gasket & NBR 3 C95
@ | Steel ball Bearing steel 2 cushion ring gasket —
Cushion ring Brass 2 ® |Needle seal NBR 2 C92
@ |Mounting nut Carbon steel 1 Nickel plated —
CAl
CO85WE 20, 25 Air cushion —
Csl
7) B (3 (9 (6 ® @ G @ 4 a5
J‘/
I I |72
Standard
Built-in magnet
Component Parts
No. Description Material Quantity Remarks No. Description Material Quantity Remarks
@ |Rod cover Aluminum alloy 2 White anodized @) |Cushion seal Urethane 2
(@ |Cylinder tube Stainless steel 1 (2 |Piston gasket NBR 1
3 |Piston rod Carbon steel 1 Hard chrome plated 13 |Rod seal NBR 2
@ |Piston Aluminum alloy 1 Chromated (4 |Piston seal NBR 1
® |Plain washer Carbon steel 2 Nickel plated @5 | Cushion ring gasket NBR 2
® |Bushing Sintered bronze 2 Cushion valve packing NBR 2
(@ |Retaining ring Carbon steel 2 Nickel plated @ |Rod end nut Carbon steel 2 Nickel plated
Cushion ring Copper alloy 2 Hard chrome plated Mounting nut Carbon steel 1 Nickel plated
©® |Magnet Self locking ring | Stainless steel 2
Cushion valve Carbon steel 2 Nickel plated 20 |Steel ball Stainless steel 2
1.5-7

'\



Series C85

Dimensions

Double acting: Single rod
Rubber bumper/CDSSN] Bore H Stroke \D
Without magnet, Built-in magnet

XC+Stroke
KV WH
SWo ]
BE
N\ Tof
=
P E
- S,
K /I8
EW d13 AM KW
NA F
H S+Stroke F
Rail style (A) Band style (B) Z+Stroke RR
or non—magnet
ZZ+Stroke
Air cushion/CDBSN] Bore H Stroke\ C—D
Without magnet, Built-in magnet
XC+Stroke
WA WA
G1 G2
| |
N I} —
O > O
P | 1 Po—
S+Stroke
Rail style (A) Band style (B)
or non-magnet Z+Stroke
ZZ+Stroke
With rod boot KK wh COB85KN
Non-rotating rod (Rubber bumper only)
\
N —
M \
i o AN | = ‘ \
- / \ T
= i ' — \
@ \ @ o = -
K/ - \
. < d \
N4
AM 800 | f
h Rod cross section
Unit: (mm)
Bore|[AM| BE |gC|CD|gD| EE |EW| F |G1|G2|WAWB| H |HR| K |KA| KK |KV[KW[N1|N2|NAlnmRR| S [SW| U [WH|XC| Z |zZ
28 |12 |M12X1.25| 4 |4'3™16.7/M5 X 0.8] 8 |12 —|—[28]10| —|4.2|M4X0.7/19| 6 [11.5(9.5|15| 12 |10 (46| 7 | 6 |16|64|76|86
210 |12 [M12X125| 4 |4"™16.7|M5 X 0.8| 8 |12 || (55[10.54.5| 28 [10.5| — [4.2|M4 X 0.7| 19| 6 |153)|3%| 15| 12 [10 (&5 | 7 | 6 |16 | &h| @5 | &y
212 |16 [M16X 15| 6 |63™10.7/M5 X 0.8 12 | 17 || 65| 9.5(5.5|38 | 14| 5 [6.2| M6 X 1 | 24| 8 [133\333) 18| 16 [14 |25 | 10| 9 (22|55 | &Y |dSs)
216 |16 [M16X 15| 6 [67™(10.7|M5 X 0.8 12 | 17 | &%) | %)/ 9.5/5.5|38 |14 | 5 [6.2| M6 X 1 [ 24| 8 |323333) 18| 16 |13 &% 10| 9 [22 | &3 | &5 (413
220 |20 |M22X 15| 8 |873%% 28| G1/8 [16|20| 8 | 8 [13(8.5|44|17| 6 |8.2|M8X 1.25| 32 | 10 1517)[i5(17)| 24 | 22 |11 |62 |13 |12 |24 |95 |115[126
225 |22 |M22X 1.5|10 |8733833.5| G1/8 |16 (22| 8 | 8 |13]10.5/50 | 20| 8 [10.2|M10X 1.25 32 | 10 [15(17)(15(17)| 30 | 22 |11 |65 |17 | 12 | 28 [104{126/137
(' ): In case of air cushion.
With rod boot
Item h
Bore stroke|] AM | 2C | ee | f K KK 1t050 | 51t0100 |101 to 150 | 151 to 200 | 201 to 300 | 301 to 400 | 401 to 500
20 20 | 8 | 35 | 20 | 6 |M8X1.25 71 84 96 109 134 159 —
25 22 | 10 | 35 | 20 | 8 |M10X1.25 74 87 99 112 137 162 187
Item | Wh
Bore Stroke| 1 to 50 |51 to 100{101 to 150|151 to 200(201 to 300{301 to 400|401 to 500 1 to 50 |51 to 100 {101 to 150|151 to 200|201 to 300|301 to 400|401 to 500
20 12.5 25 375 50 75 100 — 51 64 76 89 114 139 —
25 12,5 25 375 50 75 100 125 52 65 77 90 115 140 165
1.5-8
. r
& S\VC



ISO Cylinder/Standard, Non-rotating Rod: Double Acting Series C85

Dimensions

Double acting: Single rod
Rubber bumper/CIZl85E] Bore H Stroke \D
Without magnet, Built-in magnet

G2
EE BE
™ L ™ ’
\ ® 1K 1
[a}
aj E ] AN o %
LL N2
Rail style (A) Band style (B) H S+Stroke F
or non-magnet
ZZ+Stroke
With rod boot CO85KE
Non-rotating rod (Rubber bumper only)
KK Wh
] —
‘e S
g H+ KAt ‘ \
il S 5 -
RANS a \
- ot e B
K/ - \
< a \
X
AM 8.00
h Rod cross section
Unit: (mm)
Bore |AM BE 2C| oD EE F G1 | G2 H HR | K KA KK KV [ KW | N1 | N2 | NA [eNDh8)f S | SW | WH | ZZ
28 |12 M12X1.25| 4 |16.7 |[M5X 0.8| 12 7 5 28 | 10 | — | 42| M4XO0.7 | 19 6 |11.5/95 | 15 12 46 | 7 16 | 86
210 |12 M12X 1.25| 4 |16.7 |[M5X 0.8| 12 7 5 28 |105| — | 42| M4XO0.7 | 19 6 [(115]95 | 15 12 46 | 7 16 | 86
212 |16 [M16 X 1.5| 6 [19.7 |[M5X 0.8 17 8 6 38 | 14 5 6.2 M6 X 1 24 8 (125(10.5]| 18 16 50 | 10 | 22 | 105
916 |16 M16 X 1.5| 6 [19.7 [M5X 0.8| 17 8 6 38 | 14 5! 6.2 M6 X 1 24 8 |125|105]| 18 16 56 | 10 | 22 | 111
220 |20 |M22X 15| 8 |27.9 G1/8 20 8 8 44 | 17 6 82 |M8X125| 32 | 10 | 15 | 15 | 24 | 22 62 | 13 | 24 | 126
225 |22 |M22X15|10(334 | G1/8 22 8 8 50 | 20 8 |10.2 (M10X1.25| 32 | 10 | 15 | 15 | 30 | 22 65 | 17 | 28 | 137
With rod boot
Iltem h
Bore Stroke AM | oC e f K KK 1to 50 51to 100 | 101 to 150 | 151 to 200 | 201 to 300 | 301 to 400 | 401 to 500
20 20 8 35 20 6 M8 X 1.25 71 84 96 109 134 159 —
25 22 10 35 20 8 |M10 X 1.25 74 87 99 112 137 162 187
Item | Wh
Bore Stroke| 1 to 50 |51 to 100|101 to 150|151 to 200(201 to 300(301 to 400[401 to 500| 1 to 50 |51 to 100 101 to 150|151 to 200{201 to 300|301 to 400|401 to 500
20 125 25 37.5 50 75 100 — 51 64 76 89 114 139 —
25 125 25 375 50 75 100 125 52 65 77 90 115 140 165

1.5-9
SvC

'\



Front fl

Double acting: Single rod
Front foot, [Front and rear foot: C85L104, C85L167, C85L25%

evis: C85C10, C85C16, C85C25

nge, Rear flange: C85F10, C85F16, C85F25

LS+Stroke
XL+Stroke AO
T i .r*\n T =
—_ ||
T FT]
WL+Stioke

HAront trunnion, Rear trunnion: C85T10, C85T16, C85T25

Unit: (mm)
Front foot, Front and rear foot e, Rear flange
Bore AO | US |@AB | LT |[NH | LS XL |TRJS14| XS |AV [UR | W |UR | FBH13 | FTNTF | UF | W WL
28 5 |35 | 45 |32 | 16 68 73 25 (238|111 | 26 [128] 22 | 45 |32 3040 [128| 65.2
210 5 | 35 | 45 [ 3.2 | 16 | 68(75) | 73(80) 25 [238] 11 | 26 [128] 22 | 45 [32] 30 [ 40J12.8] 65.2(72.2)
212 6 |42 | 55 | 4 |20 | 78(82) | 86(90) 32 32 |14 | 33 | 18 | 30 5.5 4 | 40 | 52 | 8] 76(80)
216 6 | 42 | 55 | 4 | 20 | 84(84) | 92(92) 32 32 [ 14 | 33 | 18 | 30 55 4 [ 40 |52 [ 18 | 8282
220 8 |54 |66 |5 |25 96 103 40 36 | 17 | 42 | 19 | 40 6.6 5 | 50 | 66 | 19 91
225 8 |54 |66 |5 |25 99 110 40 40 | 17 | 42 | 23 | 40 6.6 5 | 50 | 66 | 23 98
Bore
TT ([UW| TDe8 |TM | TZ | XV XZ CcD AE |gAB| AO | AU | TR | LG | NH | LT XC
28 6 | 20 4 26 | 38 | 13 65 4%890 181 (45| 15(13.1(125| 20 | 24 | 25 64
210 6 | 20 4 26 | 38 | 13 | 65(72) 47000 181 | 45|15 |131(125| 20 | 24 | 25 | 64(71)
212 8 | 25 6 38 | 58 | 18 | 76(80) 67990 1121|555 | 2 [185| 15 | 25 | 27 | B.2 | 75(79)
216 8 | 25 6 38 | 58 | 18 | 82(82) 6%99%0 |121| 55| 2 |185| 15 | 25 | 27 | B.2 | 82(82)
220 8 | 32 6 46 | 66 | 20 90 8%00% 116.1|66| 4 |24.1| 20 | 32 | 30 | |4 95
225 8 | 32 6 46 | 66 | 24 97 8'0%° [16.1]66| 4 |241] 20|32 |30 | 4 104

In case of air cushion.

O

—————




Double acting: Single rod
Rubber bumper/C85F, Y] Bore H Stroke \D
Without magnet, Built-in magnet

With rod boot CO85KF, Y’ Bore H Stroke ‘D
Non-rotating rod (Rubber bumper only)
KK Wh
R —
— Q7
8 i yaNl | \
"l o = B
i - \
1-- —H-——— f—
K/ -
(- \‘
< a \
X
AM 8.00 | £
h Rod cross section
Unit: (mm)
Bore|[AM| BE |@C| @D EE F [GL|G2| H |[HR| K | KA KK KV | Kw | N1 | N2 | NA [onope) s [sw [wH| z
28 |12 M12X1.25| 4 (16.7|[M5X0.8| 12 | 7 | 5 | 28 | 10 | — |42 | M4X07| 19 | 6 [115(95 | 15| 12 | 46 | 7 | 16 | 74
210 |12 [M12X1.25| 4 |16.7|M5X0.8| 12 | 7 | 5 | 28 |105| — | 42 | M4X07 | 19 | 6 [115[95 | 15 | 12 | 46 | 7 | 16 | 74
212 |16 |M16 X 15| 6 [19.7|M5X08| 17 | 8 | 6 | 38| 14 | 5 | 62| M6X1 |24 | 8 |125(105| 18 | 16 | 50 | 10 | 22 | 88
216 |16 [M16 X 1.5| 6 [19.7|M5X0.8| 17 | 8 | 6 | 38 | 14 | 5 | 62| M6X1 |24 | 8 |125(105| 18 | 16 | 50 | 10 | 22 | 88
220 |20 |M22X 15| 8 (279 G1/8 |20 | 8 | 8 | 44| 17| 6 |82 |M8X1.25|32 |10 |15 |15 | 24 | 22 | 62 | 13 | 24 | 106
@25 |22 |M22X15/10(33.4| G1/8 |22 | 8 | 8 | 50 | 20 | 8 |10.2|M10X1.25| 32 | 10 | 15 | 15 | 30 | 22 | 65 | 17 | 28 |115
With rod boot
Item h
Bore stroke| AM | 2C | @€ f K KK 1t050 | 510100 | 101 to 150 | 151 to 200 | 201 to 300 | 301 to 400 | 401 to 500
20 20| 8 | 35 | 20 | 6 |M8X1.25 71 84 96 109 134 159 —
25 22 | 10 | 35 | 20 | 8 |M10X1.25 74 87 99 112 137 162 187
Item | Wh
Bore Stroke| 1 to 50 |51 to 100{101 to 150|151 to 200{201 to 300{301 to 400|401 to 500 1 to 50 |51 to 100 {101 to 150|151 to 200|201 to 300|301 to 400|401 to 500
20 12.5 25 375 50 75 100 — 51 64 76 89 114 139 —
25 12.5 25 375 50 75 100 125 52 65 77 90 115 140 165

SVC

'\



Series C85

Dimensions with Mounting Brackets

Double acting: Single rod

Front foot: C85L10A, C85L16A, C85L25A

UR

Head cover Y

UR

NH

[

e

|
.
T

|
I

L™

us

Front flange: C85F10, C85F16, C85F25

Head cover F

4 N 4 N
|
- T H Y
= - 5 - RS = S| <
-
o Y NG : J ||
| FBH13 | FBH13 W FT
UR UR
Head cover Y Head cover F
Front trunnion: C85T10, C85T16, C85T25
\
\
:
L
_ T H H
N -1 — ———k—}»— - H-->< -1
— \
A |
|
|
TT
Uw Uw XV
Head cover Y Head cover F
Unit: (mm)
5 Front foot Front flange Front trunnion
ore AO| US |@AB| LT [NH| TRJS14 |XS|AV|UR| W |UR| FBH13 | FT|TF|UF| W |TT|Uuw| TDe8 |TM|TZ|XV
28 5 3545 (32|16 25 23.8| 11 | 26 |12.8| 22 4.5 3.2 30| 40 (128 6 | 20 4 26| 38| 13
210 5 35|45 (32|16 25 23.8| 11 | 26 (12.8| 22 4.5 3.2| 30| 40 ({128 6 | 20 4 26| 38| 13
212 6 |42 55| 4 |20 32 3214 | 33|18 | 30 55 4 |140|52|18| 8 | 25 6 38| 58| 18
216 6 (42| 55| 4 |20 32 32|14 (33|18 | 30 5.5 4 140) 52| 18| 8 | 25 6 38| 58 | 18
220 8 |54 66| 5 |25 40 36 | 17 | 42 | 19 | 40 6.6 5|50|66|19| 8 | 32 6 46 | 66 | 20
225 8 |54 66| 5 |25 40 40 [ 17 | 42 | 23 | 40 6.6 5|50|66|23| 8 |32 6 46 | 66 | 24
1.5-12
. r
2 SNVC



Bore |AM oC| oD F Gi1 |[WA|WB| H |HR
28 |12 4 116.7 12 7 — | — | 28 | 10
210 | 12 4 116.7 12 |(7(5.5)(10.5| 4.5 | 28 [10.5
212 |16 6 [19.7 17 |8(5.5) 95| 55| 38 | 14
216 | 16 6 (19.7 17 (8(5.5) 95| 55| 38 | 14
220 | 20 8| 28 20 8 13 | 85| 44 | 1.*(|(—)Tj17 TD (28)Tj5117 TD (1739 -1.625)T| (—)Tj 17 TD (28)Tj5 (10)T| -0.417 -(28)
225 | 20 10(33.5 22 8 13 [10.5| 50 | 646(TD (8Y.63m1.5115)Tj 5.9784.4588 64.0468/Tm Tj 1| Tc -0.5
Item h
Bore Stroke AM - oC o€ f K KK 1to 50 51t0 100 101to 150 151to200 201to 300 301to400 401 to 500
20 20 8 35 20 6 M8 X 1.25 71 84 96 109 134 159 —
25 22 10 35 20 8 M10X1.25 74 87 99 112 137 162 187
Item | Wh
Bore Stroke 1050 50 to 100 101 to 150 151 to 200 201 to 300 301 to 400 401 to 500 1 to 50 51 to 100 101 to 150 151 to 200 201 to 300 301 to 400 401 to 500
20 12.5 25 37.5 50 75 100 — 51 64 76 89 114 139 —
25 12.5 25 37.5 50 75 100 125 52 65 77 90 115 140 165

'\

SVC



Series C85

Dimensions with Mounting Brackets

Double acting: Double rod
Front foot, Front and rear foot: C85L104, C85L164, C85L25 4

M —
JRDEEE S N o7 'Y | N Y Y e J S
TRJS14
us LS + Stroke
XL + Stroke AQ|
Flange: C85F10, C85F16, C85F25
\
o |
I I
— M | Kk —
OV o el e = R
N i
| FBH13 w FT
UR
Trunnion: C85T10, C85T16, C85T25
\ \
| |
| !
e X A T
\
— ‘ KN | 1IE —
4 oz e e N T Nt | S — N3 SFIF
- ‘ -
| |
‘ .
. ' J |
‘ i
| .
\
FDe8 T
uw XV
Unit: (mm)
5 Front foot, Front and rear foot Flange Trunnion
ore AO |US |gAB | LT | NH LS XL |TRJS14| XS |AV |UR| W |UR |FBH13| FT| TF|UF| W | TT |[UW|TDe8 | TM| TZ | XV
28 5 | 35|45 |3.2| 16 | 70{76} | 75{81} 25 |23.8| 11| 26 |12.8/ 22 | 45 |3.2| 30|40 (128 6 | 20| 4 26 | 38 | 13
210 5 [ 35|45 |3.2| 16 | 70(75) | 75(80) 25 |23.8|/ 11 | 26 |12.8/ 22 | 45 |3.2| 30| 40 (128 6 | 20| 4 26 | 38 | 13
212 6 |42 | 55| 4 | 20 | 80(82) | 88(90) 32 32|14 |133|18 |30 | 55 4 |140|52| 18| 8 | 25| 6 38| 58| 18
216 6 |42 |55 | 4 | 20 | 80(82) | 88(90) 32 32[14|33(18|30| 55 4 (40|52 | 18| 8 | 25| 6 38| 58| 18
220 8 |[54|66| 5 |25 96 103 40 36|17 |42 |19 |40 | 6.6 5(50|[66|19| 8 |32| 6 46 | 66 | 20
225 8 |54 (66| 5 |25 99 110 40 40 | 17 [ 42 |23 |40 | 6.6 5(50[66|23| 8|32 6 46 | 66 | 24
(' ): In case of air cushion. { }: In case of auto switch.
1.5-14
. r
& S\NC



1.5-15

CJl
cap
CJ2
cM2_
85
C76
cGL
MB
MB1
CP95
co5
92
CAl
Csl

Q)

0O




How to Order

Single acting
Spring return/extend C|D

85K

16

50

S

Magnet

— | None

@)

Built-in magnet

Style

Standard

Non-rotating rod
(only rubber bumper)

Mounting e

Symbol

Mounting

N Basic integrated clevis

£ Double end

F Boss cut

vy IBoss cut - End port

[Double acting/Double rod:
Only double end style (E).
[Except for: air cushion,

single acting (T) style.

Bore size (mm)

Standard stroke (mm)H Max. stroke (mm)

28
210 10, 25, 50 50
912
o16 10, 25, 50, 100
220 e !
295 150 150
[Other strokes available on request.
Mounting Bracket Parts No.
Bore (mm)| g 10 12 16 20 25
Bracket
Foot (1 pc.) C85L10A
Foot (2 pcs. with
mounting nut 1 pc.) C85L108
Flange C85F10
Trunnion C85T10
Clevis C85C10
Single knuckle joint KJ4D
Double knuckle joint|  GKM4-80252 T4loating joati.32 | 1t(Ral syD)Tj
Floating joint JA10-4-070

O
:

e Auto switch
mounting

A Rail sytle

B Band style
Auto switches and
bands are shown on
p.1.5-35. Please order
auto switches and bands
separately.

eSingle acting function

S

Spring return

T

Spring extend




ISO Cylinder/Standard, Non-rotating Rod: Single Acting Spring Return/Extend Series C85

Spring extend

Rubber bumper

Symbol

Standard

Spring return

&

Non-rotating rod

Spring return

Non-rotating rod

—8-A

|

Spring return

Spring extend

Specifications

Spring extend

Bore size (mm) 8 10 12 16 20 25
Piston rod dia. (mm) 4 4 6 6 8 10
Piston rod thread M4 X0.7| M4XO0.7| M6X1 M6 X1 |M8 X 1.25|M10 X 1.25
Ports M5 M5 M5 M5 G1/8 G1/8
Action Single acting/Single rod, Spring return, Spring extend
Fluid Air
Proof pressure 1.5MPa —
Max. operating pressure 1.0MPa CJ1l
Min. operating pressure | 0.22MPa 0.18MPa 0.13MPa 0.23MPa CJP
gnr:]k;srn;tﬁpg fluid —20 to 80°C (Built-in magnet style: —10 to 60°C) CJ2
Cushion Rubber bumper (Standard) CMZ
Lubrication Not required. If necessary, turbine oil no.1 ISOVG32 is recommended L———
Piston speed 50 to 1500mm/s C85
:r']'g‘r’g;b'e kinetic 0020 | 003 | 004) | 0093 | 0273 04 [~76
Non-rotating accuracy ™ | #1°30' | 1°30' +1° +1° +0°42° | #0°42° [
Stroke tolerance 0/+1 0/+1.4 CG1
[Applicable to non-rotating models only.
MB
. , . MB1
Spring Retracting Force (Standard, Non-rotating rod) ——
CP95
Spring Return unit: N |C95
E— Spring force ——
Bore | ~ ke 10 25 50 100 150 C92
(i) (mm) Retracted |[Extended |Retracted|Extended [Retracted |Extended |Retracted|[Extended |Retracted |[Extended [
position | position | position | position | position | position | position | position | position | position C A l
8 4.02 | 441 | 343 | 441 | 245 | 441 — — — e ————
10 [10,25,50 | 5.69 | 6.28 | 490 | 628 | 353 | 628 | — | — | — | — |CS1
12 657 | 716 | 579 | 716 | 441 | 716 | — | — | — | —
16 121 | 13.2 | 103 | 13.2 | 745 | 13.2 | 745 | 13.2 | 7.45 | 13.2
20 1:?0551558 18.6 | 216 | 16.7 | 21.6 | 11.8 | 21.6 | 9.81 | 39.2 | 9.81 | 39.2
25 253 | 275 | 221 | 275 | 16.7 | 275 | 13.7 | 47.1 | 15.7 | 47.1
Spring Extend Unit: N
Spring force
Bore Standard
i) stroke 10 25 50 100 150
(mm) Retracted |Extended |Retracted | Extended |Retracted |Extended |Retracted |Extended |Retracted |[Extended
position | position | position | position | position | position | position | position | position | position
8 530 | 392 | 530 | 3.14 | 530 | 265 | — — — —
10 | 10,25,50 | 598 | 481 | 598 | 4.02 | 5.98 | 3.53 — — — —
12 6.57 | 559 | 6.57 | 490 | 6.57 | 451 — — — —
16 147 | 113 | 147 | 922 | 147 | 7.85 | 147 | 7.85 | 147 | 7.85
20 150551558 39.2 | 33.0 | 39.2 | 235 | 39.2 | 981 | 39.2 | 9.81 | 39.2 | 981
25 47.1 | 404 | 47.1 | 304 | 47.1 | 13.7 | 47.1 | 13.7 | 47.1 | 15.7
1.5-17

O
:



Single acting: Single ro
Spring netyrn/Cr85[118 to 16-01S (Disassembly is not possible)
1] % _
<5
Compgngnt Parts
No. [ [ Deséiigtion | Material Quantity Remarks No. || Description Material Quapfity Remarks
©) //R od d %er I/ Aldminum alloy 1 White anodized ©® ||magnet 1 (Switch style only)
/‘H ead|gover N'/ \ Algminum alloy 1 White anodized Bumper Urethane 2
' Head|¢over E}' I Alyminum alloy 1 White anodized @ ||Return spring A Piano wire 1
' Head|cover F/{ ‘ Aluminum alloy 1 White anodized @ ||Return spring B Piano \M@ 1
| Hedd|¢over Y| [[ Algminum alloy 1 White anodized @ ||spring guide Braés 1
©) / ' C Iirf Her tubH l Stainless steel 1 Spacer rass 1
\ ) / i b ainless steel 1 (B) Piston gasket NBR 1
\@ / Brass 1 ® ||Tube gasket NBR 1
\@ / Brass 1 (Switch style only) (@ |[|Piston seal NBR 1
@/ Brass 1 (Switch style only) Rod end nyl/ Carbon steel 1 Nickel plated
intered bronze 1 Mountin)g{nut Carbon steel 1 Nickel plated
Spri 18 to 16-01T (Disassembly is not possible
> 5 0 =
l O
Comp
No. Matefial Quantity _Rentarks No. || Description Material Quantity Remarks
[@ yﬁod :ovﬁer I\ ny}n/um alloy 1 /ﬂhﬁe ano}iz@ Bumper Ure;y{ane 2
/ ﬁ—leac cdver N All} minum alloy / White-anodized @ || Return spring C Pigﬁo wirg 1
/ /Heac c#ver E uminum allo / /Vﬁﬂte anodized @ || Spring guide Brass 1
(2C) |/ Head cqgver F All minum/a‘nﬁy///l/ White anodized @3 || Spring seat Brass | —1 1
/ @/ Cylin eﬁ' ttyzé Stainless 5}94 1 Plug gel 1
/ @5 / Pisto M |n|9/s,ﬂﬁ€el 1 () Spacer Brass 1
[ @/ Pistolf] | Bfass 1 L Piston gasket NBR 1 switch style
[ @ P}'ﬂ/o }A Brass 1 (Switch style only) (2 || Tube gasket NBR 1
‘ @ /Isisto Brass 1 (Switch st y) Rod seal __NBR™] 1
]‘ /\fzy B 3 Sifitered-bronze +— 9 Piston bc/i:l{i NBR %
‘ /W MZ@@[/ 1 (Switch style only) o) /Rodrenjfﬁut Carbon steel /f _ Nickel plated—""
L] I Mounting nut Car e—f 1 |  Nick
T ]
AN ——1 —



Single acting: Single rod
Spfing return/C850120, 25-01S
e
I T
e, e
ST k
| —
Sofnponent Paxts
Nay Description Material Quantity Remarks No. Description Material Remarks
) Rod cover Aluminum alloy 1 White anodized Return spring B Piano wire Zjnc chromated
A I—Te@d cover N \A\Iuminum alloy 1 White anodized @) | Spring guide AIuminum;ﬂI)z& 1
(2§ Hea\d\cover E Albqﬂnum alloy 1 White anodized @ | Spring holder Alumintyﬁ/aﬂloy 1 \
(2Q) | Head c\syer F AIum\Qum alloy 1 White anodized @3 | Setscrew Carl;én/steel 1 \
(@D Head covér\Y Aluminﬁt{l alloy 1 White anodized @ | Wearring Pt)gﬁ{olic resin 1 \
© Cylinder tube Stainless\s{eel 1 5 Bumper A /Urethane 1 \
@] | Piston rod Carbon steel 1| 1 [Hard chrome plated Bumper B Urethane 1 |
5 Piston \Numinum alloy 1 Chromated W) Piston gasket NBR 1 \
G Plain washer C\a\rbon steel 1 Nickel plated Rod seal NBR 1 \
@l Bushing Sintersd bronze \1 a9 Piston §e/ﬂf NBR 1 \
(8 Bushing Sintered Yronze 1 20 Rod/e/pzfnut Carbon steel 1 \Nickel plated
@] | Retaining ring Carbon stﬁgl 1 Nickel plated @ M&J}ﬁing nut Carbon steel 1 Nickel plated
(104 Return spring A Piano wire 1 \%inc chromated @ M;{gnet 1 (Syitch styje only)
[ Stdinless steel (Non-rotating rod)
Bpring extend/CO850120, 25-0T
Component Parts
\ Ng. Description /Material Quantity Remarks No. Des\&(iption Material Rerha ks
\ @ Rod cover }X(uminum alloy/ 1 White anodized ) Spring g\u'@e luminum alloy 1 \
\@ Head cover N /* Aluminum aJJéy 1 White anodized @ | Spring guid\e\ Alqminum alloy 1 \
(28 Head cover/E/ AIuminun}/aIon 1 White anodized @3 | Setscrew Ceﬁ@on steel 1 \
(2d Head coyér F Alumin)fn alloy 1 White anodized @ | Wear ring Phenb&'{c resin 1 \
3 Cyling,e/r tube Stai;ﬂéss steel 1 @ | Bumper A Urethéqe 1 \
@ Pi§,16n rod C/Xrbon steel ] 1 Hard chrome plated Bumper B l)xgthané\ 1 \
\@ /P/iston /-(Iuminum alloy 1 Chromated @ | Piston gasket N\BB 1 \
\@ Plain washer Carbon steel 1 Nickel plated Rod seal NBR 1
|7 | Bushing Sintered bronze 1 @ | Piston seal NBR 1
4@\ Bushing Sintered bronze 1 20 Rod end nut Carbon steel ?L\ Nigkel p tgﬁ
9 R(ﬁiﬁéﬁﬁg\ Carbon steel 1 Nickel plated @) | Mounting nut Carbon steel 1 N ckel p byéd
@ Retu},ﬂ/spring Pianowire— | 1 Zinc chromate @ | Magnet \1\ NS cl\\stv e only)
tainless sgéel (Non-rotating rod)
i @\avc /



Series C85

Dimensions

Single acting: Spring return
CD85§] Bore H Stroke\ S—D
Without magnet, Built-in magnet

XC + Stroke
WH
SW KW G2
KK \ BE EE r‘ BE
N b AV ‘
\ Z'{““ H- i
1.1 -¢ sIHIN L - — 1 —{1}—7~ S
\ S |
g |
IS
EW d13 K KV L’
NA AM F N1| N2
Head cover E Head cover N Head cover E Head cover N H S + Stroke F
Z + Stroke RR
Rail style (A) Band style (B)
or non-magnet ZZ + Stroke
CO85KN, CO85KE
Non-rotating rod
| \
LY\
) \ .t
= dr——- ]
\ \
i \
<
X
Rod cross section
Unit: (mm)
Bore|AM| BE |@C| CD |eD| EE |[EW| F [G2| H [HR| K| KA KK |[KV |[KW| N1 | N2 [NA [eND(h8) [RR [SW| U |WH
28 |12 M12X1.25| 4 | 473%°|16.7|/M5X 08| 8 |12 | 5 | 28 |10 | —| 42 |M4X0.7|19 | 6 |55|95]15 12 10| 7| 6 |16
210 |12 [M12X125| 4 | 4*0%°|16.7|M5X0.8| 8 | 12| 5 | 28 [105| —| 4.2 |M4X0.7|19 | 6 [55|9.5|15 12 10| 7| 6|16
212 |16 [M16 X 15| 6 | 670%°|19.7|M5X 08|12 | 17| 6 | 38 |14 | 5| 6.2 | M6X1 |24 | 8 |55(10.5/ 18 16 14|10 9 |22
216 |16 (M16X1.5| 6 | 670%°|19.7|M5X0.8| 12 | 17| 6 | 38 |14 | 5|62 | M6X1 |24 | 8 |55(10.5/ 18 16 1310 9 |22
220 |20 [M22X 15| 8 | 8130%8[27.9| G1/8 |16 | 20| 8 | 44 |17 | 6 | 8.2 [M8X1.25/32 | 11| 15| 15 | 24 22 11|13 | 12 | 24
225 (22 [M22 X 1.5| 10 | 870538 (33.4| G1/8 |16 | 22| 8 | 50 |20 | 8 [10.2|M10X 1.25/32 | 11 | 15| 15 | 30 22 11 | 17 | 12 | 28
Bore S XC z 7z
1t050 | 51t0100 [101t0150| 1to50 | 51t0o100 [101t0150| 1to50 | 51to100 [101to150| 1to50 | 51to100 | 1to50
28 |46(52)56(62))) — — BA(70)(74(80)  — — 76(82){86(92)} — — 86(92){96(102)} — —
210 |46(50){56(60)})) — = 64(6817A(T8)Y  — = 76(80){86(90)} = = 86(90){96(100)} = =
212 [50B35)0635)  — — | mssyesess) — — 01104ty — — diaii88) — —
216 |56(59.5){66(69.5)} (S%'(SE—Z?%) {1?583'15.)5)} {Sﬁggi?% (3178'(51%2.15))} &ﬁﬁi??% (doN(tiny {ﬂi(?%léi} éégﬁéﬁigi} aied | 4353559 | aBind
220 | 62{87} 112 137 95{120} 145 170 115{140} 165 190 126{151} 176 201
225 | 65{88.5} 1135 1385 |104{127.5}| 1525 1775 |126{149.5}| 1745 199.5 |137{160.5}| 1855 210.5
(' ): In case of auto switch style. { }: In case of non-rotating rod.
1.5-20
. r
£ SVC



ISO Cylinder/Standard, Non-rotating Rod: Single Acting Spring Return/Extend Series C85

Dimensions with Mounting Brackets

Single acting: Spring return
Front foot, Front and rear foot: C85L10%, C85L164 , C85L25%

JRU P PR
h CJ1
LS + Stroke C JP
Head cover E Head cover N XL + Stroke | AO —
Front flange, Rear flange: C85F10, C85F16, C85F25 CJ2
N s N
o1 - CM2
%N\ wiw ﬁ || w = ; A —H— ! v I C85
& J (=4 % (=) 25 = Aw t’d Rt
K d N JI C76
FBH13 FBH13 w |[FT FTl .
UR UR ‘ WL + Stroke CGl
Head cover E Head cover N M B
Front trunnion, Rear trunnion: C85T10, C85T16, C85T25
- - |
H H 1 E]H MB1
's . i i  —
@ERN SR s 15 T : 'l CP95
LI[F e B 2 JE—
‘ ‘ C95
H H | —
g D TT ST C92
uw uw XV XZ + Stroke e —
Head cover E Head cover N CA l
Clevis: C85C10, C85C16, C85C25 I
AE ‘ XC + Stroke CSl
A i
au | !
Head cover N
Unit: (mm)
Front foot, Front and rear foot Front flange, Rear flange
Bore | ao|usleas| LT |NH LS AL TRJS14|XS |AV |UR | W |UR |FBH13|FT | TF |[UF | W WL
1 to 50 |51 to 100/101t0 150|1 to 5051 to 100101 to 150 1 to 50 |51 to 100 (101 to 150
@8 |5 (35(45(32/16| ey | — | — |may| — | — | 25 P38[11(26[12.8/22| 45 [3.2| 30|40 [128|%5%a5, — —
210 |5 (35(45(32|16| 53 | — | — |éas| — | — | 25 p38{11|26 (12822 | 45 [3.2|30|40 (128525005 — —
78(81.5) 86(89.5) 76(79.5)
212 | 6 |42|55| 4 |20 |¢éaeiay| — | — |eesosh| — | — | 32 |32]14|33|18|30| 55 | 4 | 40|52 |18 | ey | — —
216 6 |42|55] 4 |20 (32533123) (5290(51(%2.353)) &128133) (13%%?85%))&%8%1113) (gi(%ga) 32 [32[14|33|18|30| 55 | 4 |40(52|18 {3553313} (5178(51(%(1).153)) &ﬁﬁi?i?%)
920 | 8 |54(6.6| 5 |25(96{121}| 146 | 171 [103{128}| 153 | 178 | 40 |36 |17 |42|19|40| 6.6 | 5 | 50| 66|19 |91{116}| 141 | 166
925 | 8 |54(6.6| 5 |25 (961225} 147.5 | 172.5 [110{1335}| 158.5 |183.5 | 40 |40 |17 |42 |23 |40| 6.6 | 5 | 50|66 |23 |98{121.5}| 146.5 | 171.5
Front trunnion, Rear trunion Clevis
Bore |17 luw(tp es|T™| Tz |xv zX CD |AE|sAB/AO|AU|TR LG |NH|LT XC
1 to 50|51 to 100|101 to 150 1 to 50|51 to 100101 to 150
28 6 (20| 4 |26(38(13 |Gl | — | — [4*9%0|8.1|a5]15013.112520(24 (25| S | — | —
210 6 (20| 4 [26(38(13| 50| — | — [4%9%°|8.1|a5]1503.112.520 24 |25] &6 | — | —
212 8 25| 6 |38|58|18 |gemesy — | — |670%0[12.15.5| 2 [185)15 (25|27 3.2 — | —
216 8 |25| 6 38 (58 (18 (3§E3§:§§) (19178'?1%2.1@)) éii?ﬁ??%) 6*8'°3° 12.1/5.5| 2 |185/15 |25 |27 |3.2 (33532123) (1912?{%?15’» &ﬁ%ﬁ??ﬁ)
220 8 32| 6 |46|66|20|90{115)| 140 | 165 |8+093%)16.1/6.6( 4 [24.1/20 (32|30 4 |95{120}| 145 | 170
225 8 [32| 6 |[4666 |24 971205} | 145.5 |170.5 | 8709%6116.1/6.6| 4 [24.1/ 20|32 (30| 4 |1041275}| 152.5 [ 177.5

(' ): In case of auto switch style. { }: In case of non-rotating rod.

1.5-21

O
:



Single acting: Spring return

CD85$] Bore H Stroke\ S—D
Without magnet, Built-in magnet

CO85KF, CI85KY
Non-rotating rod

B _E
Unit: (mm)
Bore |AM BE oC | @D EE F G2| H |HR | K| KA KK KV | KW| N1 | N2 |[NA @ND(h8) SW | WH
@8 (12| M12X125 | 4 |16.7| M5X08 |12 | 5 | 28 |10 |— | 4.2 M4 X 0.7 19 | 6 |55(95]|15 12 7 16
210 (12| M12X125 | 4 |16.7| M5X08 | 12 | 5 | 28 |105|— | 4.2 M4 X 0.7 19 | 6 |55(9.5]|15 12 7 16
@12 |16 | M16 X 1.5 6 |19.7| M5X08 |17 | 6 | 38 | 14 | 5| 6.2 M6 X 1 24 | 8 | 5.5(10.5| 18 16 10 22
916 |16 | M16X 1.5 6 |19.7| M5X0.8 17 6 3|14 |5]6.2 M6 X 1 24 8 | 5.5|10.5( 18 16 10 22
220 (20| M22 X 1.5 8 |27.9 G1/8 20 | 8 | 44 |17 | 6| 82| M8X125 [32|10| 15| 15|24 22 13 24
@25 (22| M22X 1.5 10 | 33.4 G1/8 22 | 8|50 |20 |8|10.2| M10X1.25 |32 | 10| 15| 15 |30 22 17 28
Bore S z
1to 50 51 to 100 101 to 150 1to 50 51 to 100 101 to 150

28 | 46(52){56(62)} — — 74(80){84(90)} — —

210 | 46(50){56(60)} — — 74(78){84(88)} — —

@12 |50(53.5){60(63.5)} — — 88(91.5){98(101.5)} — —

216 |50(53.5){60(63.5)} |65.5(69){86(89.5)} |81(84.5){112(115.5)}| 88(91.5){98(101.5)} [103.5(107){124(127.5)}|119(122.5){150(153.5)}

220 62{87} 112 137 106{131} 156 181

225 65{88.5} LE 5 138.5 115{138.5} 163.5 188.5

(' ): In case of auto switch style. { }: In case of non-rotating rod.



ISO Cylinder/Standard, Non-rotating Rod: Single Acting Spring Return/Extend Series C85

Dimensions with Mounting Brackets

Single acting: Spring return
Front foot: C85L10A, C85L16A, C85L25A

UR

CJ1
CJP
CJ2
CM2
Head cover Y Head cover F —
, C85
Front flange: C85F10, C85F16, C85F25
‘ C76
} —
o CG1
MB
A H-@--Hl e s y T |- - MB1
U
CP95
O C95
? L —
| | C92
FB FB w FT L
Head cover Y Head cover F CSl
Front trunnion: C85T10, C85T16, C85T25
\ \ \
| |
s ‘ s ‘ D ‘
\ \
! ! — |
| N ARE
1oz » 4 -z v A St
‘ - N i
i i — !
_ ! J . ! J
u i
\ \
\ \
TD e8 TD e8 s
Uw Uw XV
Head cover Y Head cover F
Unit: (mm)
Bore Front foot Front flange Front trunnion
AO|US |gAB| LT |[NH| TRJS14 |XS|AV|UR| W |UR FBH13 FT |TF |UF | W | TT |UW TD e8 T™ | TZ | XV
28 5 |35|45|32|16 25 23.8| 11 | 26 |12.8| 22 4.5 3.2 |30 |40 |12.8| 6 |20 4 26 | 38 | 13
210 5 (35|45 |32]|16 25 23.8| 11 | 26 [12.8| 22 4.5 3.2 |30 |40 (12.8| 6 |20 4 26 | 38 | 13
212 6 |42 |55 | 4 |20 32 32|14 |33| 18| 30 5.5 4 |40 (52|18 | 8 |25 6 38 | 58 | 18
216 6 |42 |55 | 4 |20 32 32| 14| 33| 18| 30 5.5 4 |40 |52 |18 | 8 |25 6 38 | 58 | 18
220 8 |54|66| 5|25 40 36| 17| 42|19 | 40 6.6 5 (50|66 |19 | 8 |32 6 46 | 66 | 20
225 8 |54 |66 | 5|25 40 40 | 17 | 42 | 23 | 40 6.6 5 |50 |66 |23 | 8 |32 6 46 | 66 | 24
1.5-23
ZSNC



Series C85

Dimensions

Single acting: Spring extend
CO85¢| Bore H Stroke | T— |

Without magnet, Built-in magnet

XC + 2 X Stroke
WH + Stroke G

‘ EE EE BE 5

EW d13
NA N1 N2
Head cover E Head cover N Head cover E Head cover N H + Stroke S + Stroke I F
Z + 2 X Stroke RR
Rail style (A) Band style (B)
or non-magnet ZZ + 2 X Stroke
CO85KN, E
Non-rotating rod
| \
- I ——
M \
Q T T ] T T T N~
\\
< L P
v/
Rod cross section
Unit: (mm)
Bore|AM| BE gC| CD |eD| EE |EW| F | G| H |HR| K | KA KK KV |KW/| N1 | N2 [NA |gND(h8) |[RR [SW| U |WH
28 |12 |M12X1.25| 4 | 4"3%°|16.7|M5X 08| 8 | 12| 7 | 28 |10 | — | 42 |M4X0.7 |19 | 6 |11.5/95] 15 12 107 | 6|16
210 |12 [M12X1.25| 4 | 4*99°|16.7IM5X 0.8 8 | 12| 7 | 28 |105| — | 4.2 [M4X 0.7 [19 | 6 |11.5/9.5] 15 12 10| 7 | 6 |16
212 |16 [M16X 15| 6 | 69%°|19.7|M5X 08|12 | 17| 8 | 38 |14 | 5 | 6.2 | M6X1 |24 | 8 |12.5/10.5| 18 16 14110 9 |22
216 |16 [M16X1.5| 6 | 673%°|19.7|M5X 0.8 12 | 17| 8 | 38 |14 | 5 | 6.2 | M6X1 |24 | 8 |12.5/10.5| 18 16 1310 9 |22
220 |20 (M22X 15| 8 | 870038 |27.9] G1/8 |16 | 20| 8 | 44 |17 | 6 | 8.2 |[M8X1.25/32 | 10| 15| 15 | 24 22 11 |13 | 12 | 24
225 |22 [M22 X 15| 10 | 8'993¢(33.4| G1/8 |16 | 22| 8 | 50 |20 | 8 [10.2{M10X1.25/32 | 10 | 15 | 15 | 30 22 11 [ 17 | 12| 28
Bore S z XC 4
1t050 | 51t0100 [101t0150| 1to50 | 51t0100 |101t0150| 1to50 | 51t0100 [101t0150| 1to50 | 51to 100 |101 to 150
28 | 64.5(70.5) — — 94.5(100.5) — — 82.5(88.5) — — 104.5(110.5) — —
210 | 64.5(68.5) — = 94.5(98.5) = — 82.5(86.5) = = 104.5(108.5) = =
@12 | 70(73.5) — — 111(114.5) — — 95(98.5) — — 125(128.5) — —
@16 | 75(78.5) |101(104.5)|127(130.5) [117(120.5) |143(146.5) |169(172.5) |101(104.5) [127(130.5) | 153(156.5) |130(133.5) |156(159.5) | 182(185.5)
220 87 112 137 140 165 190 120 145 170 151 176 201
225 88.5 113.5 138.5 149.5 174.5 199.5 127.5 152.5 177.5 160.5 185.5 210.5
(' ): In case of auto switch style.
1.5-24
. r
£ SVC



0O (N

0

0

JC185N, COI85E

N
"

J85N, CO85E

85N, CO85E

ront trunnion, Rear frun

jingle acting: Spring extend

ront foot, Front and fear foot: C85L10%5 , C85L164 , C85L2

ront flange, Rear flange: C85F10, C85F16, C85F25

W + Stroke

g+

o]

15

X$ + Stroke |

: ‘: Ez/ 4rpAB

LS + Stroke

,xﬂ (2 X Stroke) AQ)

T ) - T
"H_ml'g, Q } B Ly ST o o 3
a -
ol ELIL
W + Stroke WL + (2 X Stroke)

n: C85T10, C85T16, C85T25

=

)

O

I A

85N

levis: C85C10, C85C1¢, C856C25

Unit
Front f;ﬁ)t, Froﬁ\and rear foot \ Front/ﬂange,/Rér flange
Bore | po usyﬂa LT |NH Ly AL AV||UR| W |URTFBHI3| FT | TELOE | w WL
1 to 50[5%0 100[101 0 1501 t0 5051 to 100[101 to 150 1 to 50 [51 0 100 [10} to 150
98 |5 [39]a5[3.2|16ses@s — | — |osgs, — | — 11(| 26%2.8) 22 | 4.5 132]/30| 40 [12.8837(89.7)] — —
910 |5 [45]4.5(3.2] 165905 — | — [ors@sy \— | — L x1([ 26 [12.8] 22 | -45 [3.7] 30[40[128837(87.7)] — | [—
o12 | 6/42|5.5] 4 [2desdors)| — | — l[i06(1005) — 14]/33 18130 | 5.5 | 4 [40[52[18[96(995)] — —
916 | B |42]5.5] 4 | 20{03(106.5)|129(132.5)155(158.5)[111(114.5)| 157 (140%)163(166 5 14][35718 (30| 5.5 |/4 | 40|52 18 [101(1045)127(130.5) [155(156.5)
920 /8 |54]6.6] 5 |25 121 | 146 | 171 | 128 3 117|[4p [1p [40| 6.6/ 5 [50[66[10] 116 | 141 | [166
225 /| 8 |54]6.6] 5/]25] 1225 147.5[172.5 | 133.5 | 1585(18.5 17)[42 |23 ]40] 6.6/ | 5 [50[66]23] 121.5 | 146.5 | 1715
|/

/ Front trunnion, Rear trunnion )/ Clevis \

o 1T MTD e8| TM| TZ |xv 2x” CcD XﬁﬂAB | G|[NH L\T / S

1 to 50f51 to 100[1011e150| 1 to 50[51 to 100]101 0 150

98 [ g'[20] 4 [26]38]13gas@os] — 1 — [4'3%[s1 12.5 0| 24 [2p/s25885 — | —

910 f6[20] 4 [26]38}aS[ssersr — | — [4°3%[8.1]ds 125 pof 24 24565 — | —

g12/ | 8 |25| 6 [38}5818 06095 — [ — [673%°f121]s. 15[ 5| 27 |#d|o5985) — [ —

z}’l(é 8 (25| 638 55/16 101(104.5)|127(130.5)[153(156.5)| 6 0-°%0[12.1|5.5 R5|| 27/ 3.2|1101(1045)|127(130.5)|153(156.5)
620 [ 8[321 76 6/20| 115 | 140 | 165 |8'3°%)16.1 B(3g| 4 | 120 | 145 | 170 | —

25— 813216~ 461661241205 1455 1705 8205161166 s2hdoa 1075 51775 —— —

}:tncaSe of autb-switch-stylp.

L1

|




Series C85

Dimensions

Single acting: Spring extend
CD85F] Bore H Stroke \ T —D
Without magnet, Built-in magnet

WH + Stroke G
KW
@ |
1/ 1
M Hoiw
kv~
F N1 N2
Rail style (A) Band style (B) H + Stroke S + Stroke
or non-magnet
Z + (2 X Stroke)
C85KF, CD85KF
Non-rotating rod
| \
| "4\.
\
R A I ¢ _ AN | | R -
<Br ( 5
- \
$ \
Rod cross section
Unit: (mm)
Bore |[AM BE oC | oD EE F G| H |HR | K| KA KK KV KW N1 N2 NA SW | WH
@8 (12| M12X125 | 4 |16.7| M5X08 |12 | 7 | 28 | 10 |— | 4.2 M4 X 0.7 19 6 115 | 95 15 7 16
210 (12| M12X125 | 4 (16.7| M5X08 | 12 | 7 | 28 |105|— | 4.2 M4 X 0.7 19 6 115 | 95 15 7 16
912 |16 | M16X 15 6 |19.7| M5X08 | 17 | 8 | 38 |14 | 5| 6.2 M6 X 1 24 8 12,5 | 10.5 18 10 22
216 |16 | M16 X 1.5 6 [19.7| M5X08 |17 | 8 | 38 | 14 | 5| 6.2 M6 X 1 24 8 12.5 | 105 18 10 22
220 (20| M22 X 1.5 8 |27.9 G1/8 20 | 8 | 44 | 17 | 6|82 M8 X 1.25 32 10 15 15 24 13 24
225 (20| M22 X 1.5 10 | 33.4 G1/8 22 | 8 |50 |20 | 8 |10.2 M10 X 1.25 32 10 15 15 30 17 28
S VA
Bore
1to 50 51 to 100 101 to 150 1to 50 51 to 100 101 to 150
28 64.5(70.5) — — 92.5(98.5) — —
210 64.5(68.5) — — 92.5(96.5) — —
212 70(73.5) — — 108(111.5) — —
216 69(72.5) 95(98.5) 121(124.5) 107(110.5) 133(136.5) 159(162.5)
220 87 112 137 131 156 181
225 88.5 1135 138.5 138.5 163.5 188.5
( ): In case of auto switch style.
1.5-26
. r
S SNC



2 acting| Spring extend
oot C85L10A, C85L16A,C85L25A
W + Stroke LT
[ . ;
L o i
P -%45———- S Lo L S 1+
: 2-AB 5
= Vil
AO AV,
XS + Strok
ontfflan
)
|| 8]
\ 3
-
FT
+ Stigke
rontftrupniony C85T10, C85T16, C85T2
| | 7
LR N l 2 .
+ Stroke
Unit:\mm)
o / /Frﬁtf\qo}/ \ /// Front flange Front trixnion
ao [us/|ea| LT [NA| TRAS14 Uxs[ AV ][ URw Uk FBH13 [rFT[TF[UF[w [TT Juw[ TDes8| NtM[TZ [XV
\ﬂE [l 5 I \7‘._4) 45 [o.2]| 10 Zy( _d.$ 40‘14.15 /214 4.0 3.2 19U [4U [1Z. 6] © ZU 4 éQ 30 | Lo
sl [[[s]|53s | a5 32164 5 \ Ueah| 11| 26 128f22] 45  [32]30 40 [12.8] 6 [20 4 2638 | 13
aidl [ 6] 55| 4 %07 sz \ Jsd4als3{ag 30 55 4140152 188125 6 361561 16—
duf| | [ 61 42]55] 4 32~ \[ls2 [ 1433|830 55 4 [a0]52]18] 8 [25 6 3815815
—abl] 8 [ 54| 6645725 40 36|17 42 /o [20] 66 5 |50 66 19] 8 [32] 6 —[a6les120_
ol | B 5a 861 5 75 20 Yo 17 a7 (#3140 66 5 [50(66 23 L B 1321 —6 146166174




Series C85

High Temperature XB6

C85 ‘ Mounting H Bore size H Stroke }—XBG
N,E,RY 810121620 25mm

Standard cylinder seals are replaced with special ones and other
modifications are made in order to enable the cylinder to operate at a high
ambient temperature (—10 to +150°C).

Possible applications:

- Bore size 8 + 0 and 25mm

- Rubber bumper

- Without magnets (Auto switches cannot be used at high temperature.)
- Single rod - Double acting

- Double rod - Double acting (W)

Dimensions unchanged

Specifications

Low Temperature XB7

C85 ‘ Mounting H Bore size H Stroke }—XB?
N, E,FY 20, 25mm

Standard cylinder seals are replaced with special ones and other
modifications are made in order to enable the cylinder to operate at a low
ambient temperature (—40 to +70°C).

Possible applications:

- Bore size 20 and 25mm

- Rubber bumper

- Without magnets (Auto switches cannot be used at low temperature.)
- Single rod - Double acting

- Double rod - Double acting (W)

Dimensions unchanged

Specifications

Style Air cylinder Style Air cylinder
Applicable sizes 28, 810, 912, @16, 820, @25mm Applicable sizes 220, 225mm
Action Double acting Action Double acting
Ambient temperature range —10 to 150°C Ambient temperature range —40 to 70°C
Cushion Rubber bumper Cushion Rubber bumper

) Seal: Fluorocarbon rubber ) Seal: Low nitrile rubber
Material - . Material L .

Wear ring: Fluorocarbon resin Wear ring: Fluorocarbon resin
Grease Fluoroplastics grease Grease Fluoroplastics grease
1.5-28

O



Low Speed XB9

C85 ‘ Mounting H Bore size H Stroke FXBQ
N, E,FY 20, 25mm

The cylinder does not generate any stick-slip phenomenon even at the
rated low speed of 10 to 50mm/sec. All strokes smoothly drive at a constant
speed.

Possible applications:

- Bore size 20 and 25mm

- Rubber bumper style only
- With or without magnets

- Single rod - Double acting

Dimensions unchanged

Specifications

Style Air cylinder
Applicable sizes 220, 25mm
Action Double acting
Piston speed 10 to 50mm/sec
Cushion Rubber bumper

O
:

ISO Cylinder/Made to Order Series C85

Heavy-duty Scraper

C85 ‘ Mounting H Bore size H Stroke }—XC4
N, E,FY 20, 25mm

A heavy-duty scraper is used as wiper ring. Ideal for severe applications

where the cylinder is exposed to dust, earth and sand. Applicable to

XC4

casting machines, construction machines, industrial vehicles, etc..
CJi
Possible applications:
- Bore size 20 and 25mm CJP
- Rubber bumper style only —
- With or without magnets
- Single rod - Double acting C‘] 2
- Double rod - Double acting (W)
CM2
Dimensions unchanged
C85
Specifications —
Style Air cylinder C76
Applicable sizes 220, 25mm D
Max. operating pressure 1MPa CGl
Min. operating pressure 0.08MPa —
Cushion Rubber bumper MB
Wiper ring NBR (SCB) —
MB1
Construction CP95
: : C95
- T ﬁ%
) T ||c92
CAl
Csl

m\*

1.5-29




|



Square rod cover makes direct
contact mounting possible

Space saving

Mounting accuracy and rigidity made possible
by means of faucet joint and direct mounting.

Front face mounting style and base mounting
available to suit your applications.

Bottom side mounting

Front side mounting

Bottom side mounting

Symbol

Double Acting/Single Rod

Specifications

ISO Cylinder/Direct Mount: Double Acting Series C85

Front side mounting

Bore size (mm) 8 10 12 16 20 25
Piston rod dia. (mm) 4 4 6 6 8 10
Piston rod thread M4 X 0.7 | M4X0.7| M6X1 M6 X1 |M8X1.25/M10X1.25
Ports M5 M5 M5 M5 G1/8 G1/8
Action Double acting/Single Rod
Fluid Air
Proof pressure 1.5MPa ——
Max operating pressure 1.0MPa CJ 1
Min operating pressure 0.1MPa 0.08MPa 0.05MPa CJP
Ambient and fluid N - . .
temperature —20 to 80°C (Built-in magnet style: —10 to 60°C) CJ 2
Cushion Rubber bumper (Standard) CM 2
Lubrication Not required. If necessary, turbine oil no.1 ISOVG32 is recommended ———
Piston speed 50 to 1500mm/s C85
Allowable kinetic energy 0.02J 0.03J 0.04J 0.09J 0.27J 04 ——
Stroke tolerance 0/+1 0/+1.4 C76
CG1
MB
Weight ©@ |MB1
Bore size (mm) 8 10 12 16 20 25 —_——
y Bottom side mounting 43 46 84 o5 | 167 | 253 |CP95
Basic wight L
Front side mounting — — — — 163 230 [
Additional weight for each 10mm of stroke 2 2.2 4.1 5.1 7.8 12.2 C95
C92
CAl
Csl
1.5-31

O
:



Double Acting: Single rod
18 3 to 16 (Disassembly is not possible)
o j R ’
o . P o J‘
<] Z
T@L[WI‘ETH
AH) ] Desgription Material Quantity emal || Description Material Quaydfy RemEk‘S\
(ﬂ/ , Rod gover Aluminum alloy 1 White anodizeb} ® Bushing Sintered br 741s
Cﬁ@ Head|cover F Aluminum alloy 1 White anodize’d @ Magnet 1 (Switch style only)
Helad|cover Y | Aluminum alloy 1 White anodizﬁd Bumper Urethane 2
E{ Qylin me\m\;g‘\d © Piston gasket NBR T t2-forswitch-styte)
[® [/|Histon rod Stainless steet—| [| @ [[Tubegasket—— MBR | 2
@ / Histon "A" Brass 1 (D) Rod seal NBR 1
/ Histon "B" Brass 2 |9 wit(y(style pis}t{:n)\®\~%eal NBR 2
85K | 20, 25 /
\
Compgiieat Parts
No]. esexjption Méterial Quantity Remar| No. Description Material Quantity] Remarks
@ Rpd cov\e( yﬁminum alloy 1 Whit, no&iized @ Retaining ring Carbon steel
2 Head cover\E Aluminum alloy 1 Lvhite anofflized (D) Wear ring Phenolic resin 1
2 ad| covey/\ Aluminum alloy /J,/ White anogized ) Bumper A Urethane 1
lin jeytﬁbe \itainless steel 1 12 Bumper B Urethap€ |+ +—
@ stgl/rod C‘&(bon /steﬁ 1 | Hard chromg plated—— @3 || Piston gasket uE(R 1
T ’Walloy 1 Chromated 3 Rod seal NBR 1
@ Hllain \washer Carbon\s\teel 1 Nickel plated (B Piston seal NBR 1
Qb/ Hushing Sintered err@e 1 B} Rod end nut Carbtheei/ 1 Nickel plated
@ Hetaihing ring Carbon steel 1 Nickel p’ated a Magnet 1 (Switch style only)
| |
| 1 l 1 - —



Double acting: Single rod
Bottom side mounting/CO85RA 5]8 to 16HStroke\
Without magnet, Built-in magnet (Band style)

NA NA
Unit: (mm)
Bore|AM | B |2C | @D EE G1|G2|H | K KK L glLD LH |[LX | N1 [N2 [NA| S [SW|WH|XB | ZZ
28 |12 |16 | 4 [16.7/[M5X 0.8/ 19 | 5 |16 | — |M4 X 0.7| 23 | 83.5, 6.5 Depth of counterbore 4 | 8 | 14 |235|9.5|15 (58 | 7 | 4 |12 |74
210|112 |16 | 4 [16.7[M5X 0.8/ 19 | 5 |16 | — [M4 X 0.7| 23 | 83.5, #6.5 Depth of counter bore 4 | 8 | 14 |235|9.5(15 |58 | 7 | 4 |12 | 74
91216 |20 | 6 [19.7/[M5X0.8{25 | 6 |21 | 5 | M6X 1 | 26 | @4.5, @8 Depth of counter bore5 | 10 | 16 [29.5[10.5/18 |67 |10 | 5 | 16 | 88
216 |16 |20 | 6 |19.7|M5X0.8/25 | 6 |21 | 5 | M6 X1 | 26 | @4.5, @8 Depth of counter bore5 | 10 | 16 [29.5|10.5| 18 |67 |10 | 5 | 16 | 88

O
:



Rod Accessories
Single Knuckle Joint/DIN648-DIN24335

[(re=

Unit: (mm) Unit: (mm)
Bore Model | Thread d3|dh7[ h [d6|[b3|bl| | |d7|a?]| I3
28 KJ4D M4 5 |27]18(6.0/ 8 |10|11|7.5]10
210 KJ4D M4 5 |27]18(6.0| 8 |10[11|7.5]10
912 KJ6D M6 6 [30]201(6.75| 9 |12|13(6.5|10
216 KJ6D M6 6 [30[20|6.75| 9 |12|13(6.5]|10
220 KJ8D M8 8 |36[24] 9 [12|16|16]13|12
225 KJ10D |M10X1.25|/10|43|28(105/14|20(19|13|14
Floating Joint/Series JA
In case of dimension without C
Unit: (mm)
M Maximum Allowabl Mtax. Qpefatiélg
Bore Model Nominal . A B C D E F G H screwed SIS Ensionian
thread dia. Pitch depth P eccentricity U c;éu’rgre (S}?l\(l))n
28, 810 |JA10-4-070 4 0.7 26 9 10 12 1.5 4 4 7 5.5 0.5 0.054
912, 316 |JA10-6-100 6 1 34.5 12.5 14 16 2 6 5 10 7 0.5 0.123
220 JA20-8-125 8 1.25 44 17.5 — 21 4.5 7 7 13 8 0.5 1.1
225 JA30-10-125| 10 1.25 49.5 19.5 — 24 5 8 8 17 9 0.5 2.5




ISO Cylinder Series C85

Applicable Auto Switches/refer to p.5.3-2 for further details.

5 Load voltage Auto switch model™ | Lead wire Hhm) oabl
. . icall ® Wiring - : Applicable
Style| Special function |Electrical| § - Band | Rail mounting | 0.5 | 3 | 5 [Nonel "R
ety || (output b AC mounting| perpengicuar| In-line | & (L) | @[ N o
e |—| sv | — | cme | — |AT6H| @ |@|—|—|ic | —
S Grommet|"® —| — [200v | — | A72 [A72H| ® [@]—[—|
z || 12v | 100V | C73 | A7T3 |A73H | @ (@ | @ |—
S No ) 5V,12V| <100V | C80 | A80 |A80H | ® |®@|—|— | IC |Rela
] 2 y
o wire __ _ — | PLC
u Yes 24v| 12v C73C | A73C o o0 0
Connector [—
_ No 5V,12V| <24V | C80C | ABOC | — ® ®0 00 cC CJl
D\ag?é:l%tcl%ﬂglcator Grommet |Yes _ . . A79W . ) o —|—| —
3 wire (NPN —
w?re( ) sviav| — H7A1 | F7TNV | F79 ® 0 0 c CJ P
Grommet 3 wire (PNP) H7A2 | FTPV | F7P | @ |@|O|—
< 2 wire 12v — H7B | F7BV | J79 ® 0 O|— —
2 Connector — H7C | J79C | — ® o 00 — CJZ
2 . 3 wire (NPN) SV 12v H7NW [F7NWV| F79W | @ @ |O|—| —
o Diagnostic indicator . i — _ Relay
g 2 colour) e 2T NP H7PW F7PW| @ (@O PLC CM?2
g H7BW [H7BWV|J79W | @ | @ | O |— I
o X 2 wire 12V
= Water resistant _—
3 oot Grommet — |H7BA| — |F7BA| — |@|O|— C85
With timer 3 wire (NPN) sV 12v — — | E7NT e O|— IC  —
W““”;;:Qg’,fiﬂf)":p”‘ 4 viire ' H7/NF| — |F79F | @ |@|O|— C76
Latch style witl
diagnosticuul{)ut(Zcolour) (NPN) 7 H7LF — F7LF ® O—|— ——
[Mead wire length 0.5m:--eeeee — e.g.) C73C  Bm.rveeeee Z e.g) C73Cz CGl
3meeeeeeeL C73CL None:::-- N C73CN
[Solid state switches marked with "O" are manufactured upon receipt of order. M B
[ITD-A79W” cannot be mounted on bore size g10 cylinder with air cushion. -
Auto Switch Mounting Band Part No. C95
Bore size e
Auto switch models Cc92
D-C7, D-H7 28 210 212 216 220 225
BJ2-008 BJ2-010 BJ2-012 BJ2-016 BM2-020 BM2-025 CAl
1.5-35

O
:



\)

1.5-36



	Index
	Volumen 1
	Solenoid Valve
	4/5 Port Solenoid Valve
	3 Port Solenoid Valve

	All Air System
	4/5 Port Air Operated Valve
	3 Port Air Operated Valve
	All Air System Equipment

	Process Valve
	Power Valve/Silencer

	Volumen 2
	Standard Air Cylinder
	Standard Air Cylinder
	Standard Air Cylinder (Compact style)

	Combination Cylinder
	Cylinder with Lock
	Cylinder with Table
	Guide Cylinder
	Non-rotating Cylinder
	Rodless Cylinder

	Specialty Cylinder
	Related Products
	Technical Data

	Volumen 3
	Rotary Actuator
	Air Gripper
	Vacuum Equipment
	Flow Control Equipment
	Other Actuators

	Volumen 4
	Air Line Equipment
	Fittings and Tubing
	Detection Switch
	Air Preparation Equipment



